compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers,

50, will be treated as malpractice.
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Thlrd Semester B.E. Degree Examination, Dec. 2017/Jan
\ Network Analysis &

- Note: Answer FIVE full questions, selecting
. atleast TWO questions from each par;;;\;\

PART - A

(08 Marks)
Write a note on duality mnetwork topology. (02 Marks)
For the network shown in Flg Ql(c) determine the, (10 Marks)
» S l:b
5 g Vv
‘ AN
State and explain Thevnin’s theorem as applied to AC- cyrcmt (08 Marks)

Using Thevnin’s theorem, fin ‘the current through the oql (5 + j4)Q is the bridge circuit
shown in Fig.Q2(b). ' < (08 Marks)

g Fig.Q2) &
Using 1 \orton s theorem find the current through RL in the circuit shown m»F ig:Q2(c).

—+ A
v 3n R{ =1 A
- i) ‘o

Fig.Q2(c)
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" State and explain maximum power transfer theorem. (06 Marks)

Fi d the value of ZL to have maximum power transfer from the IOL_volta,ge source.
5,0 determme the amount of maximum power is eth circuit shown in Fi “‘.Q3(b)

06 Marks)

i) bandwidth i ct "\f' ycurve. (06 Marks)
b. In the circuit shown in Fig.Q4(b), the, urrent is at maximum value I, with capacitor value
C =100 pF and I/v2 with C = 12 5 uP Fmd the value of Q of the coil at W = 1000
rad/sec. > (07 Marks)

Fig.Q4(b)
Q4(c), find the value

yf Ck for resonance to take place at

c.
mme the branch currents. - (07 Marks)
iu_ I
&3 sl
&
Fig.Q4(c)
PART -B \
a. Why sm’ual condltlons are essential? Write a note on initial condltlons myoasm current
elements . -(04 Marks)
b. D@ﬁn& ;1me constant. Explain time constants in case of series RL and series'RC circuit.
,EXP airf their importance is switching circuits. (06 Marks)
Aln"the network of the Fig.Q5(c), the switch K is closed at t = 0 with the capacitor uﬁcharﬁed

fgmd the values for i, di/dt and di*/dt* at t = 0" (10:Marks)

f%b K=k o l
' __T..)o-v

2—1‘ TC:U"F

Fig.Q5(c)
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In the network shown in the Fig.Q6(a) a steady state is reached w1th the switch ‘k ‘qpen. At
, ; Z) and

'of the Laplace transform.

b.
(10 Marks)

a.
(10 Marks)

b.

1 e—as
Show that the Laplace transform of thls functlon is f(s)= —5 =" (10 Marks)
. . as® s(l-e %)

a. Derive equat1ons for the relatlonshlp between ‘h’ and ‘y’ pagaxﬁéé\ters of a two port network.
¥ (10 Marks) -

(10 Marks)

Fig.Q8(b)

* %k 3k % 3k
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